EAGRAROBREERT — 2 N— ABISH —F

2020528230 (H) 2@EzER8H

mﬂi%Sﬁ KBEF 4t [IBF] B ‘[fﬂi] W ‘[%iﬂ%lasﬁl] - | % (&) 1800m =
[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. s EERETT :53. —-3-3- . . EREg— (EX)
i lglis| #morrny—4 it 3 et 1(553)7 3-3-3-2 | 37.1] 88.8 | 1 (5_0;)) o
LN=5—=2y 7 B AOUAOF ¢ T s
° = = WEEB :54. -4-5- . . BiE (EX)
217114 EIFZ7Vr« ie 54}.:(‘) (13514/23) r-d 3741 834 12 (i‘:g) KEH#=
LN—ErTv— BEIFTSU=— MRAEH s x
. - FR—1 :54. -16-13- . . EHEE (EXR)
3l1]o| *1¥avrIEX 3 Ao Ry i R R ig? WALIE
RIAY>T75yva BiAAavIhYF =L e
LAy k f 3 | BEAM—RE 1:55.2 4-4-4-4 | 38.4| 751 | 5 | 452 |REHE R
4 5 Y 54.0 (31/2) (+2) SRS RIS
LiFNT =TIV BT TrZ—2yF AL
S = s BEEAD :55. —14-13- . . EREE (EX)
slil1|/7-n7L95> B 3 AERL (11515/;1) 13-14-13-13| 37.7 | 73.4 | 6 ;1_388) s
Rib—trRILEY B FOEHINLTTuHL =¥ T L
. g IRFEE : —7-7- afEs (ER
s 6| 751171z (8] 3| B o R bt I B Bl -
LN=VI54 B:TI731X%v=A> FRESS
¢ = Lol iE— : —~12-10- ERE— (ER)
707l13l V=5 K i 3 e 1.(525>.7 13-12-10-9 | 38.2 | 70.9 | 10 (4_066) ERE (
/=% UnN— B:Jr X Y+ AT
. .. BEERS ] 12-15- FHE (FH)
8 NP2 S E 2 4 3 il (7551:? 10-12-15-14| 37.7 | 69.8 | 13 (fgz) /\*éa
R:IA>T7Fyvoa B:2H/TT9%t% BREM#FB L2 L/ 77— L
- E AT :55. 00— . . TERK (ER)
9l8l1e K =Ly k 4 3 ) an 1(15/52)9 2-2-2-2 | 39.4] 69.6 | 11 (4_424) i
L:¥rsn7aA4 BiEaT7vU-—> BF %8
S =y s EMBE :56. -14-10- . . EAE (ER)
0 N EE S U i 3 e 1(53%4 13-14-10-11{ 39.0 | 65.1 | 16 (4_5;0) E@%) SR
WN=Z—k21—X B:FVEI1-—> [EalEsEae
. - e
1|7/ vTaT o3 | HEAME 175?:;1 1-1-1-1 | 40.0| 66.0 | 14 | 452 %*@%@%)
QTFAAINF v BTAD by TLF A O 3k
> 4 3 | FEEER 1:56.5 10-10-7-7 | 39.3 | 64.5 | 15 488 | BBE—% (ER)
| TFT-r-7 54.0 3/4) Loy | 8 xrEsN - 37
L:bToEP N BIFI-N—F BENS
S PO {L %32 :56. —6-5- . . KMER (EiH)
1315 9 OE>H 74— 4 3 s 1(756t§S 6-6-5-4 | 39.7| 64.1 2 30) o
L:Fq =TI B4 AT LAY — e E 450355
3 SR i 3 | JIXE®E 1:56.6 10-10-12-14( 39.0 | 63.4 | 7 444 | FBR (ER)
14/ 5|10 ¥2#—% 53.0 ) ) |F71RE-L-s2y
Z:n7%x B:T7RIAYNL— KiIHE
ST — ; 3 | mAR 1:57.2 7-7-7-9 | 40.0| 59.5 | 9 504 | KE—R (F%)
5Ky VIt 540 3 1/2) 410 | BEERE )
L:ANT =TI B:TVRIY ¥ — =is &
B3 | BEHF 1:57.7 9-9-15-16 | 39.5 | 54.7 | 8 442 | BR (RR)
o3| F—7vra—-+t 54.0 3 46 | ) ETRU—F-—25>7
R:HLrTSvoell B:214¥T717LT 1 BREEH E7RM)—FK—-2F5LF
@ 71 L
) 50.3-37.3
NA> &AL | 12.5-11.7-13.2-13.0-13.0-13.0-12.8-12.3-12.2
® I —F—@EBIERL
| S=9r= (¥8,16)15(5,14)9(6,12)3(4,11,10) (2,1,7,13)
2o =7= 8,16,15(5,14)9(6,12)3(11,10) (4,13) (1,7)2
Fol=5r= (x8,16)15,5(14,9) (6,11,12) (7,13)10(1,2)-(3,4)
40—F— (8,16,15) (5,14,9) (6,11) (12,13) (7,2)1(10,4)-3
[ N3
H OB 15 340M 714K 14-15 1,980M e E 7-8 2,060 JEHE 2-14-15 18,900M
18 B 15 1609 2-15 850M B = 14-15 5,640M K31 15-14-2 99,690
14 660M 2-14 4,930 B H 15-14 8,880
2 320M

ABRICOVTHRTEEERROODE, THEB LS,



